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CD-2045 (SE)

B. Com. (Part 111) EXAMINATION, 2020

(Compulsory)

Paper Third
MANAGEMENT ACCOUNTING
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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(UNIT—1)
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What is meant by Management Accounting ? Discuss its
main tools and techniques.
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el BT IAJUTd 25%

T T % 50,000

@) Ads fama Z 3,00,000
SUR famy Z 1,10,000
fama Z 35,000
IRMTE Wl T 27,000
3Tfed T Z 33,000
Hehel ¥ IUTd 20%

Compute Stock Turnover Ratio from the following

data :

(a) Sales ¥ 2,00,000
Gross loss ratio 25%
Average Stock ¥ 50,000

(b) Cash Sales ¥ 3,00,000
Credit Sales ¥ 1,10,000
Return Inwards T 35,000
Opening Stock % 27,000
Closing Stock ¥ 33,000
Gross Profit Ratio 20%
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(UNIT—2)
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What do you mean by Cash Flow Statement ? How is it
different from Fund Flow Statement ? What is its utility ?
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31 A I
feraror 2016 2017
() ®
|. 9T U4 Q1 -
3PEINT B
afer gt 4,00,000 | 4,50,000
RELRGEIEEIE
AT-BI faaRor (50,000) 70,000
RILIE A ED) 2,00,000 | 2,10,000
ﬁ?—ﬂﬁ TR
FOTIH 2,40,000 | 3,50,000
EIGEIN 1,20,000 | 1,50,000
9,10,000 | 12,30,000
1. {9
IR-2Te], Tl
Il FHfrt 6,10,000 | 7,20,000
fafermT 50,000 | 1,30,000
BRG] 2,40,000 | 3,75,000
R-emfelRgd e (@R W
Herd) 10,000 5,000
9,10,000 | 12,30,000
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From the following B/S of a company, prepare a schedule
of changes in Working Capital and Funds Flow Statement :

Ending 31st March

Particulars 2016 2017
® ®
I. Equity and Liabilities :
Shareholders’ Funds :
Share Capital 4,00,000 4.50,000
Reserves and Surplus :
Statement of P & L (50,000) 70,000
General Reserve 2,00,000 2,10,000
Non-Current Liabilities :
Debentures 2,40,000 3,50,000
Current Liabilities 1,20,000 1,50,000
9,10,000 | 12,30,000
1. Assets :
Non-current Assets :
Fixed Assets 6,10,000 | 7,20,000
Investments 50,000 1,30,000
Current assets 2,40,000 3,75,000
Unamortised exp. (discount on
shares) 10,000 5,000
9,10,000 | 12,30,000



User1
Text Box


A4

[5]

Additional Informations :
(i) Depreciation charged on fixed assets was ¥ 60,000.

(i) A machine of the book value of ¥ 40,000 was sold
for ¥ 30,000.

Note : The amount shown in bracket indicates negative
values.

hHIT—3

(UNIT—3)
o wHe Ue oy fEfol &, 9 §dfgd &
Rer ATTd Z 1,60,000
BIRCRENIRERING] fasa &1 60%
T BIY -
(i) STH-HET U
(i) w9-fIeog fag
(iii) ¥ 20,000 FT @M 3IRAd B 7 A
(iv) % 4,40,000 dI AT fdshl TR o™
(v) ¥ 8,00,000 dI fdshl IR Gremm DI T

The following data is related to a Small Manufacturing Co. :

Fixed Cost ¥ 1,60,000
Variable Cost 60% of Sales
Calculate :

(i) P/V Ratio

(i) B.E.P.

(iii) Sales required to earn a profit of ¥ 20,000
(iv) Profit at an estimated sales of X 4,40,000

(v) Margin of Safety when sales are ¥ 8,00,000.

P.T.O.
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Il ufd saTg 60
59 Ul ghIS 40
aRacela @ 10
Wl AT 40
%0

TN . Gol Bl G DI S8 WIS YH PN ?

A manufacturing company finds that while its cost is
T 150 each to make a component, the same is available in
the market at ¥ 120 each with an assurance of continued
supply. The breakdown of cost is :

3

Material per unit 60

Labour per unit 40

Variable expenses 10

Fixed Cost 40
150

Should the company go for buying in place of making the
part ?
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(UNIT—4)

4. 5000 SHISA & AT TR W UH 9% DI AN AN A’
& AT 4 Mg 8| 39 WR W W AT A 25% &l
@ uRady gg afeaTd @ 59 yaR uRafda 8 €, 9
I B’ @ 3id f9U T g

A B
RIRDIRCIRG] 40,000 | (100% TRacT)
LACIL] 24,000 | (100% YRacdrR)
NG 2,000 | (80% uRad)
AT U4 XG-XETq 3,200 | (75% uRad=a)
wN 1,600 | (100% uRacdr)
ferteror 800 | (20% uRad+)
T 16,000 | (100% ReR)

ENIRIECaeID 8,000 | (25% YRac1a)
R &g 4,800 | (50% TRac13)

1,00,400

Ui SHTS T T 20.08 |
4000 T 6000 SHIZAT & foTU STEH BT SHIS AT AT
PN |

The cost of an article at a capacity of 5000 units is given

under ‘A’ a head. For a variation of 25% in capacity

A-4 P.T.O.
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above or below this level the individual expenses vary as

indicated under ‘B’ below :

A ‘B’
Material Cost 40,000 | (100% Varying)
Labour Cost 24,000 | (100% Varying)
Power 2,000 | (80% Varying)
Repairs and Maintenance 3,200 | (75% Varying)
Stores 1,600 | (100% Varying)
Inspection 800 | (20% Varying)
Depreciation 16,000 (100% Fixed)

Administrative Expenses 8,000 | (25% Varying)
Selling Expenses 4,800 | (50% Varying)

1,00,400

A4

Cost per unit ¥ 20.08.

Find the unit cost of the product at production level of
4000 and 6000 units.

3T

(Or)
qorel R0 ¥ T AR § ? 39d oM Ud RN @
=T ST |

What is meant by Budgetary Control ? Discuss its merits
and limitations.
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(UNIT—5)
5 Tdh Uldel Tdlls & BREM & (A=feIRad faavon I ary
faerRoT @ ToET BT

gAY fAsTor
z
HIWR 60 1. (% 5 ufa fHum) 300
S 40 foam. (% 10 ufd fam) 400
100 fepa. 700
30 (30% 1)
70 . 700
JRafad fHsror
4
80 fouT. (4.50 wfcr o) 360
70 fouT. (8.00 wfcr ) 560
150 fepu. 920
35

115 T3, 920

From the following details of a brass foundry calculate
material variances :

Standard Mix
3
Copper 60 kg @ T 5 per kg 300
Zinc 40 kg @ ¥ 10 per kg 400
100 700
30 (30% loss)
70 kg 700

A-4 P.T.O.
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Actual Mix
3
80 kg @  4.50 per kg 360
70 kg @  8.00 per kg 560
150 kg 920
35

115 kg 920

JAdT

(Or)

59 NG fdeRv @1 g ? gHe AR gucHl @ g3
afed e HIfw |

What is Labour Cost Variance ? Explain its various
components along with their formula.
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